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Whether it is new or whether it is old; it should be cooled

OVERVIEW

The X n) cited a (second ¥n»91) which states (in seeming contradiction to the
previously cited Xn>72) that whether it was a new oven or an old oven which was
heated with X177 *10°X it (merely) needs to be cooled. But it need not be destroyed
(even if it is a w7r7). Our MO explains the ruling of this second Xxn»72.
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Since 2913 717Y 777 is permitted. Therefore it only needs to be cooled (even by a w1r n).

mMooIN anticipates a difficulty:
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Even though that 3137 is 90 only 72p°72 as is evident in 292527 %5 P -
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Where >'"'1 ruled that it is not permitted to plant a walnut of 7%y, but >
agrees that if he planted this 777 5w 1k that the fruit which will grow from it is

permitted -
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And the X713 there considers it to be a case of 3'"'137 and nevertheless it is only =0
72¥>72, but not 791n3%, why here are we permitted to use this oven 72nn3% (after it was cooled) on
account of 3"11?!

mooIN responds:
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For here (by the w7n 71n) it is like a 73ps7, for if we will rule that yny w7n, the
oven will go to waste; we will never be able to use it.

!'See wn 7"7 'own [TIE footnote # 4]. In the case of a w7n N if it used again (after it was cooled down) with fuel
that is °mn there will be a a7 of MoKk namely the wn M0 (see w7 7"7 '0I0 [TIE footnote # 1 & 3]) and a o7 of
a0, the new fuel; therefore whatever is cooked in this oven is permitted since there is also a 2713 of n°7; the Rin of
this Xn*>72 maintains that 2"117 is M.
2 The T 797w (from which the tree will sprout) is a Mo°X Yw 03, and the ground (from which the tree grows and is
nourished) is a 207 S oM.
3 When something is 72rn2% 70X and 72v°72 10 that means that 1977 9p°yn it is 9N, but since there is some concern
that if we allow this, it may come to an actual 10X, therefore we prohibit it 77nn3%, for there is no urgency to do this
procedure; however once it was done and if it is prohibited there will be a loss, therefore (since there is no actual
MMO°X) we cannot prohibit it. Similarly here we cannot just say do not use this oven,
for then we are virtually destroying it without any basis since 177 v it is M.
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SUMMARY
A case of A"11, where 1f we prohibit it will result in a loss, 1s considered a 72v°72.

THINKING IT OVER

1. mooIn proves that A1 is N only 72372 from the X3 of 797 Hw 1k, Why did
not MO prove it from our X3 which states ¥ 127, for there too it is a 211, and
nevertheless it needs to be 1¥1° we cannot cook with the heat of the fR17 *M0°K?

2. mooin answers that by a 1n if it will be prohibited (and we will need to destroy
the 71n) there will be a loss, therefore it is considered as a 72¥>72. Why do we not
say the same thing by the 177y 5w MR, if we prohibit planting it, there will be a
complete loss, therefore we should be permitted to plant it 551037, just as we are
able to cook in the oven 751n39?!°

4 The oven (which is a 1) is a °.n°7 5w 07 and the fuel (of ARIT >NOR) is a MNOX 5w 2. If 2"17 would be “nm
712105 there would be no need for 71, we can cook in it as is.
5 See XMW 727.
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